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[Toyemy Kucnopog — 0O,, a cepa—HES,?
0O-0-0 2*210 =420 kx/monb O=0 494 k[x/monb
S-S-S  2*260 =520 kx/monb S=S 420 kOx/monb
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CynbdupHble MuHEpanbl
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MnpuT (*KenesHbl Xanbkonuput (MeaHbIi Cdaneput (UMHKOBAA

KonyenaH) FeS, KonyenaH) CuFeS, (geo.web.ru) obmaHKa) ZnS

[aneHuT (CBUHLLOBbIN KnHosapb HES XanbKoumnt Cu,S
6neck) PbS (www.galleries.com)



S — oKucaurens
2Na +5=Na,S, Na,S +S = ... Na,S, [

C

Fe +S=FeS -
P+S=P,S,, P,S; nap. M

H, + O, = H,0 (1ckpa n 1.n.)
H, + S — H,S (200°C)
H, + Se > H,Se (400°C)




BoaopoaHble coeauHeHUA

H,O H,S H,Se H,Te
T, °C 0 -85,60 -65,7 -51
Txum., °C 100 -60,4 -41,4 -2
d 3-H, um 0,096 0,133 0,146 0,169
E O-H, 463 347 276 238
Kk JI>K/MOJIb
Z HOH, ° 104,5 92,2 91,0 90

KucnotHble cBOMUCTBA?

Ke, 10-14 6*10°% 1,7*10% 1*10°3
BoccTraHoBMTENbHbIE CBOMCTBA?

H,0 + F, -

H,S + 0, —» SO, + H,0 (S) NPy NOAXKUraHUM

H,Te+ 0, > Te + H,0O NpU KOMHaTHOW T-pe
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ycnhosua BbinageHUA cyrbduaos

* H,S H* + HS K, = 1,0¥10°7
e HS H* + S2 K, =2,5%1013
MNP MnS = 2,5*10°10 MNP CuSY = 6,3%10-36
MNP FeS = 5*10-18 MNP PbSY = 2,5%1027

\/7

* (NH,),5 — 2NH,* + 57



S + ChOoXKHbIe BelecTsa

+ HNO NO, + H,SO, + H,0

3KOHLI,

¢ +H,S0, 0u— SO,+H,0 [

+ +NaOH,,, —  Na,$2+Na,$"0;+H,0 [

¢ +Na,S —> Na,S, [
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Na S S S
H—0O 0

* +Na,S0, - Na,S,0, S
H I]f N

H,S,0; — SO, T +S{ + H,0
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